
QG1 4-x Code break from  2 95,74,83,85,95,73,05 3v16-17   (Note: 61 is A, 62 = B)
1 2 3 4 5 65,02,65,93,05,95,73,74,84,72   74,84   95,73,65   94,63,93,74,91,95,01,93,65,94  

 74,94   72,85,64,',94   03,85,93,64. 

61,82,82   85,71   74,95   74,94   01,94,65,71,01,82   71,85,93   

95,65,61,63,73,74,84,72   61,84,64   73,65,82,91,74,84,72   91,65,85,91,82,65   

6 A B C

7 F

8

9

0 Y

61,84,64   71,85,93   63,85,93,93,65,63,95,74,84,72   95,73,65,83   61,84,64   94,73,85,03,74,84,72  

95,73,65,83   73,85,03   95,85   82,74,02,65.

95,73,65   94,63,93,74,91,95,01,93,65,94   95,93,61,74,84   72,85,64,',94   94,65,93,02,61,84,95,94   95,85  

 64,85   61,82,82   81,74,84,64,94   85,71   72,85,85,64   64,65,65,64,94.

   -------------------------------------------------------------------------------------------------------------------------------
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 64,85   61,82,82   81,74,84,64,94   85,71   72,85,85,64   64,65,65,64,94.
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Code break from  TRWM 3:22   (Note: N is a Y, then look at the 2 two letter words with Q in them.
                                                               Both Y and B are vowels that can stand along, but which is which?)

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

Y

Y OIBSM JAIQ EMYOML XYBP, 'NIR YAM QN IKL PMYA 

XIL, B YQ FTMYXMP KBUE NIR.'

Code break from  TRWM 3:22   (Note: N is a Y, then look at the 2 two letter words with Q in them.
                                                               Both Y and B are vowels that can stand along, but which is which?)

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

Y

Y OIBSM JAIQ EMYOML XYBP, 'NIR YAM QN IKL PMYA 

XIL, B YQ FTMYXMP KBUE NIR.'

Code break from  TRWM 3:22   (Note: N is a Y, then look at the 2 two letter words with Q in them.
                                                               Both Y and B are vowels that can stand along, but which is which?)

A B C D E F G H I J K L M N O P Q R S T U V W X Y Z

Y

Y OIBSM JAIQ EMYOML XYBP, 'NIR YAM QN IKL PMYA 

XIL, B YQ FTMYXMP KBUE NIR.'


